CLASS: IX
Date: 22 — 04 - 2020

ASSIGNMENT

SUBJECT: I.T.

MCQ:
1. Identify the subject in the sentence, “The children played football.”
(a) The children
(b) Children played
(c) Played

(d) Football

2. ldentify the object in the sentence, “The children played football.”
(a) The children

(b) Children played

(c) Played

(d) Football

3. Which of these sentences has both indirect and direct objects?
(a) I am watching TV.

(b) She bought a blue pen.

(c) The girls played cricket.

(d) He wrote his sister a letter.

4. Which of these sentences is in passive voice?
(a) They are watching a movie.

(b) The clock was repaired by Raju.

(c) He is sleeping in the room.

(d) My pet dog bit the postman.

5. What is phonetics?

(a) It is the study of how we write words in English.

(b) It is the study of how people understand sentences.

(c) Itis the study of how many words the English language has.
(d) It is the study of the sounds we make when we speak.



SUBJECT: ENGLISH

serve my aged parents.

a. haveto
b. hasto
c. hadto
d. will have to
. The maid servant wash the utensils.
a. hadto
b. haveto
c. hasto
d. will have to
join some service to earn his bread.
a. hasto
b. haveto
c. hasto
d. will have to
take my umbrella with me because it was raining.
had to
have to
has to
will have to
. My father support a large family.
a. haveto
b. hasto
c. hadto
d. will have to



SUBJECT: MATHMATICS

1. On simplifying (5 +7)*, we get
(@ 12
(b) 35
(€) B+
(d) 12+2435

2. On adding 2v3 and 3v2, we get
(@) 56
(b) 5(+3++2)
() 24/3+32
(d) 5V6

3. On dividing 6427 by 24/3, we get
(@) 349
(b) 6
() 9
d) vz7

4. (Vi2+J10-42) is
(a) a positive rational number
(b) equal to zero
(c) anirrational number
(d) a negative integer

5. On simplifying 83 x 24, we get
(a) 16
(b) 213
(C) 210
(d) 8*



o

SUBJECT- PHYSICS

The slope of velocity-time graph shows
€) Speed (b) displacement
(©) Acceleration (d) angular velocity

. Distance covered by a car moving with a speed of 36 km/h in 15 minutes is

(@) 0.9 km (c) 9.0 km
(b) 90 km (d) 900 km

c__D
The velocity- time (t) graph of a % B
moving particle is shown in figure. The .
Acceleration is maximum for segment A t g
@) AB (c)BC
(b) CD (d) equal for all parts

In a 100 metre race, the winner takes 10 seconds to reach the finishing point, the
velocity of the winner

€) 20 m/s (c) 10 m/s

(b) 00 m/s (d) 100 m/s

The speedometer of a car measures
(@) Average speed (c) acceleration
(b) Instantaneous speed (d) Only speed



SUBJECT: CHEMISTRY

. The property to flow is unique in fluids. Which one of the following statement is
correct?

a) Only gases behave like fluids

b) Gases and solids behave like fluids

c) Gases and liquids behave like fluids

d) Only liquids are fluids

. Which of the following substances in the gaseous states should be called a
vapour?

a) Helium

b) Nitrogen

c) Carbon dioxide

d) Sulphur

. The few substances are arranged in the increasing order of forces of attraction
between their particles. Which one of the following represents a correct
arrangement?

a) Water,air and wind

b) Air sugar and oll

c) Oxygen,water and sugar

d) Salt,juice and air

. Which one of the following sets of phenomena would increase on raising the
temperature?

a) Diffusion, evaporation and compression of gases

b) Evaporation ,compression of gases and solubility

c) Evaporation, diffusion and expansion of gases

d) Evaporation, solubility ,diffusion and compression of gases

. A gasfills all the space in a container in which it is kept because

(a) The molecules of gases have large intermolecular spaces

(b) The molecules are not free to move

(c) The molecules have large intermolecular forces of attraction

(d) The randomly moving molecules hit against the walls of the container



SUBJECT: BIOLOGY

. The three primary nutrients which are needed for plant growth are
a)Calcium, Sulphur and Magnesium.

b)Nitrogen , Phosphorus and Potassium.

c)Zinc, Boron and Copper.

d)Calcium, Zinc and Copper

. The method of incorporating desirable characters into crop varieties is
a)Crop rotation.

b)Hybridization.

c)Intercropping.

d)Multiple cropping

. Cereals provide us
a)Carbohydrate.
b)Protein.

c)Vitamins and Minerals.
d)Fats

. Berseem and Sudan grass are.
a)Cereal crops.
b)Weeds.

c)Fodder crops.

d)Leafy vegetables

. Aseel is a.

a)Indigenous breed of Hen.
b)Indigenous breed of Cow.
c)Exotic breed of Hen.
d)Exotic breed of cow



SUBJECT: HISTORY

1) What was Livre?
a) A unit of currency in France.
b) A tax levied by the church.
c) A group of privileged people.
d) Direct tax.

2) When was France declared a republic?
a) On 21%t September, 1792
b) On 5" August, 1792
c) On 21t may, 1792
d) On 5" July, 1792

3) Whose name is associated with 'the reign of terror' ?
a) Robespierre
b) Mira beau
c) Napoleon Bonaparte
d) Dr. Guillotin

4) Which right was given to the French women in 1946?
a) Right to hold political offices
b) Right to get education
c) Right to divorce
d) Right to vote

5) Who were ‘active citizens’?
a) They were entitled to vote
b) They were not entitled to vote
c) They were entitled to protest
d) They were entitled to accumulate wealth



SUBJECT: GEOGRAPHY

1. What is the difference between most eastern and western sides of India in
respect of degree?
A. 40°
B. 76°
C. 30°
D. 65°

2. From where the standard meridian passes?

A. Mirjapur
B. Patna
C. Raipur
D. Kolkata

3. Which island is situated in the Arabian Sea?

A. Andman

B. Nicobar

C. Greenland
D. Lakshdweep

4. What is the total breadth of India from east to west?

A. 5092 km
B.2314 km
C. 2933 km
D. 3932 km
5. What is the difference in time between Arunachal Pradesh and Gujarat?

A. 2 hours
B. 4 hours
C.1hours

D. 3 hours



Assignment 3 ClassIX

Subject Hindi McQ a¥gs us

Q.11..31 Sl I T g | Sl oh ATeIH I ehi= il fIwaeh Jed IR & 91+ g1 3Mg ¢ ?
a) gt fAsrar

b) ATt T SO

c) wdse

d) e wREgrar

Q 12. 59 Gt gg] il =T & 9T @ o I 9T AT o g7 AT?
a) @I @ rar

b) &t ZgT o1

¢) SR I AT e T AT

d) = s F e ar

Q13. ifh 3R STTa WR AT =T 71 8,98 el STd &1 Ig h fohdenr @ 2
a) gRT @M

b) it el

C) 7T AT

d) g

Q 14. & e sl ot STeREET @l o ST =g 1?2

a) dg el ¥ Wdl heamT I1gdr o

b) a8 dli ot AT ATEdT AT

c) Sefl ¥ ©g dhear AT

d)3IE Sl el @ haT o1

Q 15. gRTSMR A 747 & =R ST o fagigt gt mu?

a) T Ik 1Y TR hdl AT

b) ERT 3R HIT ol 7T T TR U AR ST AT



C) BRT SR Akt Pl U TS T WIS Ag! (Helm
d)ERT SR AT & Smuw gt g oft
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